














‘codaon  Lob P,%,reﬂzl_
/‘C.P-'.i :_%r x,4,zZ Q@Fn'm_o,

Fermat - Cakalon  egn  wits s»g«am )
9,7

b X = ¥ G[:i-\- et

X2 1 Sco - solved b Beuwlars
g Z.:‘%ﬁ:d@bb, Eclu)cu-dsQ

X<1 A L\MJ{H a(l Come, have loesn solved

LJ'\\LS LT&GQ“) Docmon | % MQ.NZJ)
KP&M, BQAA-O.H:, ECLQM) %MA,.”

{2,3.%) Poo«u, Schaefer & Sl
(2,%, 9 7) Nils RBeuis

(L. %9

:cf‘*-ztoz '33 Saanda~ Do&mu 2003
(Usq‘ng ‘%qﬂm: ehy san
o ﬁueﬂ—hwm"\a

ook alls gt xf‘-t-‘a?’: Z'0 ?



(x—22)Cx+zZ>) = (—3)3 (DD

One cone x+2% = 2.3 w, v odd
l~25= L}-VB C'OPHML
° ’, \43— 2\/'3 - 2'5
fund

6 =37 K= R(O) S =1—-8  wir

fu-v &) (P+uvd®+ 20" = =°

U~vh = <> 0(5 2 <S< L
Wiy O+VE 8 = €0 ,BS ®,Re ZzL&)
Use t'&e.u&-s'\'nt

Cu-v &Y 4 3Cu+v@3‘ = 4(u’~+uv6+v7'92“\
=3 oM 0%y 3 b 0) = 4 & R’
- - B | ~ 3Cu+v o)
L& X e Y =
" ~ |
gt X =3LL&9_SX5—7:°‘S> Qerun =

| d=3
%ﬁ\& S\«‘o.\g& wor& C(—

il O{<3"4_3:2
C/DL«JC-A/\ N o«QAAw\Sg TS




) 1 -
| (e*+b+L, £ Coree+1))

m—

- 3 * - —
1 | <_9’“-w—\ + (e“—e+\\>
3 ’ 3 |
L~ o-—6~t, = (u e‘*+\se+\q\\
- | _ s
0| 1 (soszest | s Loggond)
3 -
| (4 ,%23)
= -
49 5 (‘61—6-1, :(woe}*sse*gq\\
(-4 )« (38 £21)

2 ® | S

x| T The 0“’6 solothron L,
xf—vj"-—‘llo o lepraa WEeseOs
X, Y, 7 x
2, -2, $£%7 ,
(B 4 e LY.

(:‘:i \ O, =% L\) (ti)-i)q




